Please Answer the Following Questions as you read the article:
“The Worst Mistake in the History of the Human Race”

1. How does the diet of our hunter-gathers ancestors differ from the current agricultural based society diet?

2. How many hunter-gathers can live on a 10 square miles?

3. What are the three disadvantages created by modern agriculture that was discussed in the article?

4. What is paleopathology?

5. How did the height of the Greeks change after the adoption of agriculture?

6. How did the density of the population shift with the introduction of modern agriculture?

Be aware that the answers to these questions
 will be on you upcoming test.
I am not collecting the answers.

